CHEMISTRY UNIT 3 Review

1. Dissolving P,O;, in water produces phosphoric acid (H;PO,). What mass of phosphoric
acid is produced from 552 g of water? PiOu +6 RO > 4HsPO,
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2. 230 l@ é)f hydrochloric acid (HCI) reacts with zinc to form hydrogen gas and zinc

chloride (ZnCl2). How many liters of hgjeirogen gas wﬂb be pro_guced at STP?
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3. 10.0 grams of an aqueous zinc chloride reacts with a sodium sulfide solution in a
double replacement reaction. Write and balance this equation and then calculate the

molecules of sodium chloride produced. 2 (A 268+ Na 2_5 ey~ Z20S +2NeCA
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4. Complete and balance the following reactions
A.) Aluminum nitrate reacts with copper () sulfate in a double replacement reaction.

2 AB0s), +3Cu,304 —> Al (545 +bCuNOs
B.) Zinc reacts with silver phosphate in a single replacement reaction.

52n +]Rg:P0 —> 2n3(R0q), + b Rg.

5. Find the empirical formula for a compound that contains 48.6% carbon, 43.2% oxygen,
and 8.11% hydrogen.
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6. The molecular mass of the compound in #5 is 222.0 g/mol. What is the molecular 7
formula for the compound? O ‘
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7. Phosphorus, when reacted with oxygen gas in a synthesis reaction yields diphosphorus
pentoxide. If the reaction is begun with 205 grams of phosphorus and 12.6 L of oxygen gas,
how much product can be made? How much of the excess reactant is remaining at the end of
the reaction? (use either grams or liters depending on which reactant is in excess)
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8. Find the empirical formula for the compound that has: K = 24.6%, Mn = 34.8%, O = 40.6%
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9. A standard laboratory preparation 6f jodine is the following reaction:

ZNal + MnO: JH:50: 9 Na:SOs + MnSOs 4JH:0 + L
When 62.55 g of Nal are used with excess amounts of the other reactants, the actual yield of
iodine (I2) was 39.78 g. What is the percent yield?
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10. Coal gasification is a process that converts coal into methane gas. If this reaction has a

percent yield of 85.0%, how much methane can be obtained from 1250 g of carbon?
,Zc + H:0 9 CH: + CO:
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